4 m?i’GEODHE

4-(1) B=5% - (i FM)
SHEE 5T | =T
e a BS 1% i B A 7= | e T —
+#08m. =R AKX 132822m B B 3377ha
=ARAKNBIBREERSBE 12223 NPHE, BUL\SEE S12 S41 (HEK B 47287ha B B 594%ha 2517913
H=LH. W B 88 242009m t#(ESE) 468ha
o ,
rimmme R 4068 i FIOU | g0 | sz0 (BB S296he 1179235
WHSHBIRIRERE 486 aCLit S53 | sez EMER 48cha BB 11040m | 4209125
N e y—————— WE L iom  @E L 3E%
BRENEFRLEE| ssss| trm mnsvw | s53 | Hig BAME 1UM - HESLE 008m| 40490219
INPE, &RIALET AKESERSE —
5t 23,565 48,396,492
4-(2) B=5%
4-(2)-1 ?ETI’GB%.U}E?E (8411 : FM)
HXEL T K B X & w3
DADVEEKEE 14 49,512,634
SERTREE 3 2,549,968
FERl e S o 1 16,200
O teRlEE 15 5582,764
FAKIEEXIEREE 1 714,987
Ak EERREE 4 675,000
BT | TR aaE e > 495,520
e e e 1 314,396
KERETEEE 1 130,720
B B 6 19,919,562
EEAERE SRR AR 3 154,446
EhtEREEE 31 9523272
EEEREE 25 36,450,657
BRI AP e R R R R 1 216,546
EEF R R ERE > 37,416
EEEEREREEE 7 486,978
THREREEREE 6 5,582,081
EitRIREE 6 4222319
e 48 6.452,591
FHEE 1 530,504
TR BhEREE 1 182,940
PNCE, ol e = 9 34,421,105
—REEEEEE 44 11,533,622
ENRERER O R e E e RE 51 15,595,026
RS EBREEREE 37 5,248,700
KD>BBNEB I NETILBE 1 20,000
BBEE - KETONDINBE 3 191,500
EHEL - BEEEBLER 3 95,502
ENGCRREEE 19 27837673
ERRBEREEE 3 2,884,075
PUURE GRS ERER 10 15,157,884
IR EE 1 67134
ey ey 4 1378010
VKT B R B R R B 5 1 314,263
EBKFITBRR F v IVRIX Y B > 743,686
B KA E R AR e B 1 270167
ER o T E il T 1 176,390
LEEER KB BRI EEE 1 33490
ESHEREREEE 1 67,920
EEKBEEESO(L - BRI 3 294,690
5t 374 260,084.448
) DREEZE
4-(3)-1 5T T itIXRiEs (&5f7 © F)
= 2 WX 2 & B % & w =
ERERERESE (DADEK - 28) 9 1,544,651
B R ERE 1 38875
OIS KR E 1 900,000
EEET || TR aaE R 2 60,000
KA 25 L\RE TP 7 245,360
EEEEkEE 41 33898743
EOR FREE SR E L ER 3 44572
DS AR BRI R B (R AR 1 40,000
DS EEBRERE 5 331,028
RS AR E R 2 13,800
VKD A B R B R R B 1 389,500
£t 73 37,506,529




4-4)-1 ETHX-BRE=BRD _ ; (et : )
T y ET =7 i3
XS “ra | © BORBEAY Al . SEE
BKE 5604m
® £ )| 812 4630 +H@H. APEH | S33 | S38 | FYRIL 1.957m 158,200
T —=
KR T&m
o $ 495 427 =iE S37 | S42 15 K i 1@% =~ 211150
KT 5946m
795 kiR -1
#orow (B3 503 =RM S40 | S44 18K 1@/ 338650
7 ok 8 183.414m
5 I 1@
X B % 1343 084 GPE. R S36 | S45 BEE T 2@ 1432754
e 29.955m
" - _ EaT D&
% B T 318 347 +m@m. tPW  S43 s47 B L 2B 251026
B R E 495 571 +R@H. APE | S44 | S52 MK 12660m 560526
® % 1 881 665 @ S0 s53 Mk 10001m 670.366
SO RS FRE®. AP KB 14.661m
x % 1016 1147 LRET sa7 se2 HXE oM 1594500
maET 3E
] B 240 184 +R@E s53 He EE oL L 3721690
o 1@
S 8 518 533 $iE. tFE S55 | H10 F 7K 13 0254m 3003763
K 7.869m
kg 2.230m
r % 416| 620 =h@ He | Hi0 HIXE 2230m 810000
FRE®. =R®
BIENZER 4284 5150 BNSHE. RIKE | S50 | HI16 B k18 22170m 6183000
AP
o +HRBH, =R®
i g 3502 5249 BUSUEL ThW | S59 H21 Mk 479248m 8020000
’ AP
FRE®. /\oh
% R 2 1620 1706 BNSEE. APE | S53 | H23 & L 187 22551,000
A
= TR I0510634
— TR 2@
® & 00| 270 =iE Ho | H13 AR 287 1286040
B Ok BB OE EK el 53 90| =Rt H21 | H24 |Hekisis -3t 305935
® oo 04| 185 =im H27 | R1 |k o®F 957,993
z G 5540068
R T T — TR ==
e L EE O & 318 CPEL HR@m | H14 H16 HAEEE X 16,200
: THER 16200
= 0 © 211 264 TREm 54| S67 B KB T.1o2m 163000
5 1 26 101 =@ S56 | S59 |1k B8 807m 74,000
mEt+am 34 53| +H@h S55 | S60 |HE Kk B8 2088m 272000
@ A Il 186 234|+R@h. APB | S54 | S62 Bk 88 3816m| 869200
= R 06|  228|®:itE. tAW S59 | H1 K85 600m 131,000
5 = 60 65 | ZDH08] S58 | H3 |HE KB 3200m| 676000
ik £ 76| 107|=Rm H2 | H5 Bk 8 850m 98000
Bk ERBR S ES = 60 103 AFE H1 | HO |4 & 95 2285m 626800
o E 65 71 =R H3 | HO |HE K i8 3171m 514,100
B § R o8|  189|=ri H5 | HO |4 2k 958 1.584m 223000
A Il 8 54 135 =R H6 | H10 B K B8 1775m 263000
A 0 80|  125APEl. BRE H11 | H16 B 7k 93 4506m| 886664
@ % 50| 173|=Rm H15  H19 3 X 85 1.232m 172,000
w3 39 86| APE H15 | H20 |H K 88 1.901m 475000
+ 1 I 55 o1 tEE. it H18 | H23 |#E K 8 1.913m 139,000
T 1o 5580 764
P = S46) WS L T
BAkIEEESEE % 303 376 P oo s53 B oaedl 714987
T TR 714057
B X — = pnoea H5 | Ho | FEmREims = 24,000
i A KIS S CFEIIIZEH — — ol H5 H7 | #KnEs% - 122,000
(BkBEEESs2) B XK B - — | H5 | H11 | FUSAREMS — 109,000
. = _ _ SRR -
= £ A0 H7 | H14 2R X 400000
2 675000
Z2xma i TEnE @ F 93] 151 ©Fm H8 | HO |BuKItT = 64,800
B = % & ¥m w 1 1549 175 +R@® H20 | H24 & T -3t 430720
= 2 495520
e EREZ2anmn - - |+ue® H19 H24 @B T % 314396
THX 314396
KERZOESEE O R >0 35| =RM F1 | H4 KB T 760m 130,720
T TR 130720




4-4)-1 TTHX—EREBEEHO — x (&1 )
= =3=3=F =
z % 2 X %EF SEPR mmea B =l 5 %_}% S T
B s E? 555 - %}E%ﬁi NPH. o5 535 J-va TLiER 267.332
b B s — | sivmr. cPm S39 | S43 DVOU—REARIA 378390
Ceas N Se (718 tRE. HkE S44 | S58 DIIPEOVIT (ILIA 2860284
[ Fﬂf Ba"ls,:ff 547 718|CAEL HitE S48 | H7 BILIDPEOWIT (LS A 8228000
(i K B 504 331 mnmE. EiE  S53 | HI2 [ BEREARIVIU—RIA 7.715,300
BREY L)
B T —=
@ & L 419 490/ CEEN. iE H30 R4 BERE —® 461256
S5 (B —=
z oI 15519560
%(mn 5 ff 547 — FREE P g o %}%}E%m —g 27371
a freme —=
- o | MBS RE —
i L L ems 285 — tRE. ®itE Heg | H2o ﬁ%ggusmu = 50875
SR -
= = _ ipEEsaE -
Comy 418 — tRE. ®=itE Heg | Heo EERIT: - 67,200
Fmivkox IR pa
z 3R 154246
X Mm@ M 636 455 Cr8l S51 ] S54 KB T 39700m 197,000
# # 387  320|%4m S53 | S57 KT 10610m 185438
S R 547  396|tFm S54 | S50 K5 T 18630m 153700
i = 1009 1376 +f@M. AP | S55 H3 K@ I 19900m 348100
% 2 4 82 406 320 %=h@ S57 | H3 KT 5800m 153400
W % 221 232 =R® H1 | He |X®BT 40430m 213450
A B 595 204/=Rm S57 | H7 KT 20305m 333120
* B 303 811 #8L5EE S57 H7 |X®BT 23139m 493743
P B 481 322 BLSEE S50 He K@ T 20292m 409570
m K 120 268 BNSEE ss8 Ho ST TZ 313400
r B 21 69| BSEE H8 | H10 o T —st| 150,700
e N 636 455 tFm S50 | H11 KE5T 52070m 552790
X = m 730 504|7~FE S60 | H11 K88 T 0845m 524880
r o5 i 21 69| BNSEE HO | H12 B4 T 137.0m 71,600
528 21 69| BN EE H10 Hi2 BB T 1370m 27,000
o msEmpEe® 3 N 13 o tFm H10 HI3 B T 500m 142,000
XM S5 L 1047 928 GRE. =& S5O | H14 &miEs 188 603000
& R W 425 350 GF® H11 | H15 K85 T 22700m 298300
% 5 M 364 522 BLSEE H6 | H16 X & T 19219m 732000
® R 10 8| tFm H15 Hi8 B T 510m 142,000
R 8 178 166 +H@® H15 | H19 &8 T 10780m 341,000
P 3 39 57 +x@ H17 | H19 K85 T 2200m 40,000
EERRY ! 23 69| =A@ H18 | H20 1B T 1620m 156300
) B 254 176 +R@® Hot | H21 K85 T 80m 54,000
) 5 21 51 tFE H19 | H25 88 T 9252m 382426
=R = 66 90+ H25 | H26 7K 85 T 270m 118,609
DER./ 0 220 158 +h@h H25 | H27 K88 T 1569m 175377
& g 118 220 ®=iE e Hes PSS 4F9 132,799
samims 772 1062 SROD E s | H30 k8 T 86200m 1642672
ABBEE 164 42 a8 H28 | R BT —% 328455
SRKEHE 601 81| tPE R2 | R4 Kommds “Z 106443
X 5523070
X B W 474] 593 P8 SA1 | S47 ROERE Z7aha| 643900
M R W 543 517 =Rm S42 | S48 REEE 543hal 630874
SR 527 472/ CPE S42 | S48 REmE 527ha 1024227
B B W 207 1324 4+08h CFE | S43 | S48 XEEE 207hal 422,960
ﬁ B 215|  233|+wE® S49 | S56 REEE 215ha 1408000
5 @ 450 566 +R@m S51 | S62 REE 450ha| 2,480,000
G @ om o g w®A M 542 026 vewn rem awswm| S50 H1 | KEEE 542ha 3726500
X % F 247 306 APEL. BLNSEE | S52 | H1 XEEE 247ha 1,734,000
" w321 378tPm S54 | H2 REmE 320ha 2360000
A¥EZFE 214 288+MEH. APE | S55 | H3 XEEE 214ha 1,546,000
T WL 8E 249  324|%4@ S55 | HA4 REmE 249na 3058000
o % 250 198 +Ro@m S57 | HE REE 250ha 2,290,000
[ W 204 240 +wE® S57 | H5 REmE 204ha 1810000
T Bl 272 426 +R@E® S65 | HE REEE 2716ha 3748000
EOZ Flbkmamza B & 101 114 BL\oEE H4 | H10 RERE 101ha 1,629000
AXBEHEREX B 50 54 tEE H4 | H10 XEze 50ha 936000




4-4)-1 BTHRXR—BRESEEE)Q (87 FA)

SiREE | SmE : EL | = = 23
il XS “ra | BORBHIAY Al 5 % 8 SEE
T B & 33 22 TREm. trm HO | H13 | XEEE 206ha 519002
R E 28 45| +R@h HO | H14 RE®E 275ha 765000
B E ooy RRBIE 90 100 +H@h HO | H15 | REE=eE 899ha 1,702,000
& S 20 25 AP H12 H16 XEe 203ha 477,000
E 49 61 RiE H12 | Hi8 | RBeiE 48%ha 1168000
o % = R 996 173 =Rb H22 | H27 REs 096ha  1.123553
-~ o 123,
REAEIEEERER ) % 236 34 =R H27 | Rl B 236ha 440981
PEEEEEILIESE L = R 006 173 =Rm H22 H27 iBes% —= 660
KBS 262ha
N 78 ¥ 5 .2h:
BERBRERERSE 5 no 272 45 E=HE Heo | Rs |EELEE 2ha 807,000
25X 26450657
A o5 B 107 — Ao H23 | Ho3 |mEmek 1070ha 216546
T 216546
B o B B 8 b= 1t 23— ®im Hoa | Hos |EBRHEK 6.71ha 18155
A BE K 88 1255m
= % B % 646 —  tpE H25 | H25 k3 T 1292m 19261
= DI 37416
¥ B W 137 - |tPm H26 | H26 |7k 88 T 1,250m 32,439
XMm28 594 — | GPEm H26 | H27 |k 88 T 1,447 Am 50,180
m s ® 492 — | +R@® HO7 | H27 K5 T 1.700m 43501
EERREERESE L L U T 63 — [RE® H28 | H2s |k 88 T 1,760m 41562
BEET 28 53 — tPm H28 | Hes |k 88 T 3458m 15206
o I 53 — tPm H27 | H30 K85 T 19630m 229000
. =T KB T 1,4625m
TE-@ER 357 e Hos Heo RET 2om 75,000
= THX I86078
TERBEK 2 74ha
KB 28 444 419 GPE S55 | H1 =R B 0328m 649152
B 8 1,756m
BEGK 3115na
X M % 622 573tPm S54 | He B 13524m 1,321,929
2 = 6.641m
THNRRESERER p— =R 3734m
pos w301 204 fEEW. He | HO |REE thal 471000
. B B 1.997m
- [ 3N 3837m
B R oW 95 130 +Hm@h Hio Hi3 P E S83Im 270400
7 W 507 647 +R@h HS | Hi4 |2 /@ 11.968m 1,567,600
B @ @k 388 648 +H@H H7 | H14 |2 @ 12280m __ 1.302.000
= SHf 5,582,081
W W 261 321 =R S39 | S44 | XEEH 261ha 116875
- By W @ 226ha
% & R 280  198|AsEN s39 sa6 B B 25ha 81,246
= oR P EOD T 58 50| +70B™ S54 H1 B8 B S8ha 267198
A F B 41 15| +H0BH S54 | H1 |miEs 41ha 733000
5 & B 56 23 tF® S58  H6  EEm 56ha  1.437.000
s J R 65 7 RN H5 | H14 | EibEs 649ha __ 1.587.000
E GHAE 4220310
T W B 244 — | hoPa S44 | 545 B % 3,905m 14,230
it 5 22 "N tmmn S50 | S50  aiER —= 8600
3 “@4) E<HP 2@
B R W 290 AL 50 s52 S5 L 80,085
& I 77 ‘1177) ACa o S50 | S51 ® Kk E 760m 13771
s R g2 "Dlmim S52 | S52 |autiER —= 18002
2 & &~ 188 “Slaum S52 | S52 |autiER —= 3600
1 b 52 %l; +50BH S50 | S53 B B 3598m 125,460
BIETFE 86 20 HERE S52  SB4 B B 2151m 66800
1t % 459 85 =@ S51 | S54  BEnER —=t 131,042
T % R W 303  122/%i® S50 | S54 |aiGg = 87.600
MBI ERS Xy % w145 25| a8 S53 | S54 | aaHER —= 28801
8B J # 148 23| T0iE S53 | S55 |zt = 84.702
A B 339 32| Ar BN S54 | S55  BUEHER —= 61,000
E-wHT 115 25| #EEE S54 | S56 R k& 2.040m 56,508
% R ¥ 303 122 =it S50 | S57 & ® 4023m 79,000
EoBIEFTE 158 25| #EE S55 | S58 @ # 1535m 208670
i O 260 46 FHE S53 | S59 B ® 4170m 190,000
N 88 14| RLE S55 | S61 @ ® 2,050m 110,400
EN 64 35 E=hE S54 | S62 B 8 2.990m 165,000
THomE 183 51 =R S55 | S62 B # 2.893m 127,000
» & 300 24| A N S55 | S62 B 8 2.360m 111,000
% Kk W 251 80| +H0BH S61 | S63 Rk E 6.443m 126,000
] #2051 15 S57 | H1 & ® 1.572m 83,300
W J A 48 43| =it S57 | H1 & % 1.631m 86530
B_s g 56 28 5L S57 _H1 E B 1.777m 92570




4-4)-1_BTHR-_BRESEHD _ _ (o Fm)
SnaR | SOEH : ET =7 =
il BEE | "ha | &) BEREN &e e . SEE
- KERE —=
HEBE2 247 81 -+ 55 | s61 NAEE saray 126532
5 B B 45 15 +F0@m 56 H3 @ B 3041m 221,000
= ¥ 150 103 &it& S56 H3 & B 2220m| 139300
it ¥ 143 68 =ita S50 H3 @& B 1987m 115000
m 202 16 @ S60 H3 @ 2440m 124,580
5 J R 95 48 =R S62 H3 & B 1.674m 98,000
w m 48 8 =it& S62 H3 & B 775m 43,300
e & 35 18 +R@m S53 H4 B B 5310m 454207
£ & R 845 20 FhtE S56 H4 & B 5601m 288990
2 , @ 459 85 =itE S57 H4e B B 4707Tm 262200
8 @ 137 17 B0i0E S8 H4 & B 2671m 176870
e B 76 21 =& S61 H4e & B 1.944m 97510
e :
BB ERE R B 44 20| E=4® S61 H4 B 1.973m 117450
\ . KEFE =
Mra®E2 217 27 sitm Hi o Ha KERE poTTa 108408
El D E 30 6 B0l S61 H5 @ B 2123m 154000
& 5 40 15 A~y B H1 | H5 & = 1.680m 134000
it E AR 52 6 =ita H3 | H5 & 1.024m 79,000
@I = 16 32 R0 S63 Ho & B 2827m| 261,319
. KBTS —=
W % 2 264 45| FiLE He  He AEEE oooan 205000
WoB W 29 o +R@h 61 H7 @B B 2300m 297024
2ARE?2 78 15| =it8 He | H7 & 2048m| 284,150
CAEDR 45 5 ERE H3 | H8 & ® 2538m 221,000
& % 56 20 =B AHiN | H5 | HO & 8 2647m 279,000
i 28I 6452501
B KB 1B
F OB B 2L B 214 312|=Rm S38  S45 FHEKE 7740m 532524
B 2%ha
B 1 X 532,524
TR R B B (A B 218  311|=rm® saa | sa6 HEN 218ma 182940
B TR 185,040
TROT. TFD 58560
+ @ @ 19260 8437 LEBP LE S47  S54 (-r508an 1815953
~ B-8560m
BB bk 6355 3144 TE. FE ss0 H1 DESGOm 2254201
PELILE2 6355 3144 EAE. GFH st Hi PBSEOm 1219.400
B oE B B it =R, B-8560m
EEE R T E=arn e2r6 3198 htny ss6 Hiz DS50Om 5,713,300
BB Lk 0650 2445 PIUD HEE ®E | g yqg BESGOM 3,652,000
- B-8560m
+H@mE 8185 2245 HREM, SPE S50 | HI8 L ooCOm 16,146,000
SHDIBET, HHRAT. AL B=856.0m
HELI2H 0650 2445 BUL. s Hi4 Hio B850 2487,000
5o oB B -+ % B 1186 699 +H@H H21 H26 L=6715m 499,305
= s B F $ %
(R 2 0 & %) &HHNSE 2271 670 BLSEE Ho1 H26 |L=72263m 933946
B Ol 34451105
- - SESYe]ets)
t 5 620 319 tFm s47 S50 D000 64,534
_ B-5965m
r % 840 702 ®itE. tFE sa8 ss2 0900 61612
_ B=7060m
M R R 365 447 tFE s47 ss3 7950 273540
- B-6565m
& 5 887 350 ALSEE s49 ss3 OS50 76,160
- B-6565m
+ @ 405 141 BLSEE ss1 ss3 o580 70700
R R o B=7065m
E2RET 740 o= s53 ss5 D000 40,000
- — B=7065m
£ 2 %@ 320 404 =R ss4 sss 1055 103,600
= ® 211 224 JOOW REE [ g5e gep FO0OM 199,000
—mEBEEE % N B=7065m
2 2 8 23 60 +Homm. =ikar | s56 s63 B O 348000
(=3471m
- - B=7065m
GHEE28 281 262 tFE sso Ha D955 118,000
_ B=7065m
7 § 400 206 tPE ss5 Ha D 1955 398000
_ B=7065m
w28 400 206 GFE ss6 Ha D 7080 400,000
B=7065m
0 B 317 90 +HEh s85 Hs D 1O80 601,000
" - - B=7065m
an ¥ 121 129 =R se1 Hs D980 218000
B=7065m
£ 2 ®RW 460 170 +HEH se3 Hs D JO80 264,000
; B=7065m
B # R 284 164 +R@D seo Hs B7OBS 241,400




4-4)1 FTHK EREEERE _ _ TR
E ¥ 2 XS ﬁﬁg*—é ﬁ?;ﬁ BSRTBETAT %ﬁ_ L 5w s S =g

M 2m 121 120/ =Rw® Hi | HY yooom 155,000

% 2R g 469 170 +H0B® Ha | Hr BO5Om 390,000

7 B 220 256/ tFE He | HY D Ooom 207,000

3 ® 32 67| cFE Ha | Hy B90BOm 106,000

% ®m T 281 2876F® se8 Hg D[ obOm 325,000

5 R 205  176|tFE He | Ho D9OOm 226,000

5 © R 160 02| =R He  Hio B ORom 183642

B & 191 120|7FE se8 Hi1 D JOSOm 602,000

A J F 145 150 BLSEE He  Hi2 BLODOM 504100

& b 61 5O @, ATHH | HO  HI2 Doocram 158014

# @ 121 100 GFE H10 Hia TO080m 153,000

- BEEEHS %X B 156 134|tFm He | Hia D90DOM 255,000

M R T 198 200 =R Ho | Hia DJOROM 245900

R @ 381 339 +HBF Ho | Hie P O54m 1,097,826

R®@ 2# 381 339 +HBF H10 Hie D 925 233,000

B@28 121 100 GFE H12 Hie OO0 310,000

t 5 @ 56 o8| ~"FE Hio Hi7 B5080m 264,000

SwEk 166 108/ =R Hi1 Hig 19RO 440,000

e e 41 58| P8 H17 H2o ES080m 192,000

m 32 46 £FE Hig Hzt B IS5 112,000

2 % T 87 86| AT Hig Hzz BS050m 395,000

8 J R 41 40| FHLE H2t | Hza DOOOM 154,007

EWES 43 46 7 Ho7 R1 8% T 12820m 135228

+H@%1 301 335 +R@H He2  H25 |ssmae 32608m 135327

srzermmpw B2 180 T67FEm Hod | H26 8% T 16796m 125700

- B B B ¥ W®m 4 E2 708 372 AW H26 R2 &% T 75509m 449100

(R2x 8 2)

+HEEE 395 285+ R3 R5 #%T 20201m 449100

5 5 350 198 HDiwE R4 R5 #WET 1,066.7m 62132

R ZATX 11533602

* @ 289 - | BLSeEE $40 s41 oM 44176

t B 528 - | tFm sa1 saz OSSO 94,120

A v B 191 —  AoEE s42 sas OSKOM 55,005

I k213 —  miE. oPW 543 sa5 OSSO 48900

n B 379 — ~PE s43 sa5 OSSO 69,056

% — t 4% 530 — E=AE saa sap OSSO 116875

a 5 887 — |BIstm sa6 sag 00O 81,246

ZE28B6 592 — |BNSEE s47 sso /o0Om 222301

@ R 355 419 CFRE. =itE s48 ss0 IOBOm 101,983

BIREBIBRORYRS = B 400  419|tFE sa0 ss1 P7O0Om 86,409
S RENREX B=70(55m

(B &% B 8 ) % @ 160 110 +5@b $60 | s52 452 162,548

% M 320  404|=R ss0 ss3 D[ oBOm 118749

+R@AE 395 285 +HBH ss1 ss3 P/Q0Sm 221,493

HEE2M 160 110 +HBH ss1 ss3 PSS 70430

i % 356  183|/FE ss1 ss3 D[O%Om 107.486

FHOERE 305 285 +wmm ss2 ss3 D[O%Om 128500

W 2M 320 404/ =R ss2 ss3 D ]o0Om 143338

" FO311 144|mEE ss2 se4 D JO0Om 160,800

FEE2m 356  183|7FH s53 ss5 L[ OoOm 202,550

W /350 420 FAE sss seg P7O2Om 118500




4-4)-1 BTHRXR—BRBEZEE)O (87 FA)

SIENE | SRR : =L = = 23
il XS e B BORBHAY Al I EE SEE
; — B=70G5)m
sl =4 380 237 | &=l SNFH S53 | S59 L=5107m 488,550
‘ < B=7065m
B B 230 209 | s S55 | 859 L=3.070m 318,600
. B=70(65m
5 P9 318 296 | £5:01thE] S55 | S59 L=1.540m 192,000
~ N = B=7065m
F & 8 182 176 BULSEE]., /NFH S57 | S62 L=2.409m 291,000
NI I B=70(6B5m
X ] 185 120 BULSEE], /NFH S57 | S62 L=1.783m 332,900
B=6.0(B5m
B F B 190 158| &=t ET S57 | S62 L=1.931m 284,900
B=7065m
+RBEERZ 563 172|+F08BH S56 | S63 L=1,053m 462,000
. B=70(65m
5P 2 8 318 296 | £5:01thE] S57 | HA1 L=1.360m 217,000
" = B=7.065m
N g 124 152 =i, GF6 S58 | HA1 L=2.423m 213,400
+70 @ F 50 B=7065m
> A 563 172 +F08™ S59 | H1 L=1.025m 183,900
. B=7065m
18 X 163 106 | #EH] S60 | H2 L=2.137m 273,000
R r B=7.065m
REBBERORES T 19 241 208|737 Fitd S63 | H3 [=1.997m 229,000
BB ER B — B=7065m
2 s B 8 ) B P 350 108 | £5:01th ] S60 | H8 L=2.450m 423,000
= S B=6.0(60/m
£1KRKE8 166 112 | #E6] H5 HO L=2.805m 316,000
. - B=706G5m
#E I’ R 144 130 7"FPH H5 | H10 L=2.300m 538,000
= . B=70(6B5m
BEF 28 350 1908| £5:0 b H1 H11 L=2.926m 685,000
. B=7065m
5 % B 125 142 | +F08BH H4 | H12 L=2.023m 760,000
— - B=70(65m
NFE 207 293|+FB. NP H7 | H14 L=3.513.0m 1,098,000
= . B=70(65m
EF 38 350 199 | £5:0 by H10 | H14 L=1.4170m 313,000
e B=7065m
|54 n 307 204|757 ity H4 | H15 L=2.994.7m 712,400
o= B=70(6B5m
z & 198 98 | N PR H8 | H17 L=4.072.9m 793,000
e B=7065m
E MR 2 8 307 204|757 ity H10 | H17 L=2.580.0m 638,700
. B=7065m
1 pi=d 765 195 | #EH] H6 | H18 L=4.2255m 1,073,000
NP FEA 226 131|7"\FH] H21 | H24 L=2,8519m 131,965
P23 M| 90 122 | =R H24 | H26 |L=1192.0m 86,168
B8 =R 3713 614 =R H24 | H27 L=5816.0m 357,550
#E I’ R 109 130|7"F8] H26 | R1 |L=2,2900m 160,100
FR M ER SR
B B 8 B WA LS5 E 586.7 1,048| BL\SEH H27 | R1 |L=10279.7m 832,400
£ o5& )
5 P 272 249 | £5:01thE] H26 | R2 |L=2,8980m 314,238
w5 672 666 F=iE H26  R2 |L=5067.4m 412,692
z & 198 98 | N7 PR H27 | R2 |L=7000m 119,008
51X 15595026
= R 12 H5 H6 [L=254m 24,280
r P 34 H5 H7 |[L=821m 171,380
£ B8 26 H5 H7 |L=626m 130,900
= E 20 H5 | H7 |L=1,067m 134,000
J\ 1% 22 H5 H8 L=1,622m 207,660
i bd 12 H6 | H8 L=861m 95,300
& B8 26 H6 H8 |L=1,498m 174,200
il E] 12 16| B0 H7 | H9 |L=407m 107,800
B ity 20 13 &itH H8 HO |L=1,100m 138,700
AP B2 207  293|AFH H8 | HO |L=1,958m 123,700
= 5] 22 - =R H10 | H12 |L=1,266m 156,232
5 " 15 — |tFE H10 | H12 L=1,235m 209,698
S d = & B 88 /J R 23 - tFEH H10 | H12 |[L=1,197m 158,222
2R ERE I E2EEIRULE 15 — | BLSEH H10 | H12 |L=972m 112,242
F2ARR 28 - E3l4:] H10 | H12 |[L=1,318m 155,564
FXRJTE 12 - Eold:i] H10 | H12 |[L=866m 142,200
2 =11} 17 - tFEH H10 | H12 |L=958m 95,086
£ o B8 23 — il H10 | H12 |[L=1,513m 154,146
* s 29 - =R H11 | H12 |L=385m 37,634
= # 20 — |t+h@m H11 H12 B2 T 206 m 145044
= B8 14 - =R H11 | H13 |[L=7974m 143812
iR 21| — |+r@m H11 | H13 L=646m 40,386
NFE 207 293|+FB. NP8 H10 | H14 |L=3512.6m 117,183
b B 29| — |+r@m H10 | H14 |L=1,6080m 428,268
g 5] 22 - HBNSEH H11 | H14 |L=1,2774m 244,302
A @I = 30 — +F0@ T H11 | H14 |L=1,967.0m 218324




4-(4)-1 HTHR_BRERHERD _ _ Coin - F)
BT . BT =7 i3
LS BWXE e BETEN & | e s ¥ &8 EEL |
T = X 0 -  =t® Hi1 Hi4 =T,1290m 751,206
5 R~ 34 — tPm H12 H14 L=1,1890m 181,826
8 7 o 27 - | tPm Hi2 Hi4 L-25625m 200530
A E B 30 - | =im H12 H14 L-5816m 67,204
5 s s e g oa?® T 10— +r@® H13 H14 L-4390m 73944
= 2 m g o3 B 5 22| —  ®\5EH H15 | H15 L=5805m 42,860
- A E B 30, — |=ikE H15 | H15 |L=291.6m 9,530
w7 R 37 - tPm H15 H16 L=1,0582m 139,060
= " 15 — | =im H16 H19 L-1,3238m 287010
r & 15— | ~PE H17 H19 L=7828m 99,700
5 1@ 24— | =Rm H22 | H24 L=1,3106m 129567
i ST 5248700
=gz P 104 44 "PEL, BOSEE | HI6 HIT KB T 696.2m 20,000
i THEX 20000
% 8 =R 39 24 +H0Bm F5 | H5 |GG o=/ 298m 40,000
3 ket % 12 28| +HBH H7 | H8 CEo=KE 381.2m 48500
& B EKES 345m
x 7 5 62 +H8H HO | H10 | St veit iz 1 &P 103,000
i 3R 191500
z wo - - |=mim Hod | H24 #ERET - 19067
i R B L o - - =im H26 H26 FEwitmsDEE - 25859
B o ® - - +m@® H26 H28 KezEm 4605m 50,666
i S 95502
t 5 7199  662/tFEm sso| H1 2.2 84550m 1,404,000
= R 7984 2164/ =R ss7 Hr B8R 49835m 1,134,000
+ % B 8837 1427 +RB® se1 Hr B2 21747m 1006000
= it 14470 1,436 = ss2 Ho BB 5418m 2214330
g o o oam =
i ﬁfﬁ‘“\; 2wF % ® B 4833 1925 BL\5EE S54 | H9 %@!ﬁ% 5410m 1521960
X M M 9201 2105 tF®H ss5 Ho B2 7889m 4638810
7 B 7504 1,751 AP se2 Ho BB 9080m 1205640
+70BE 8566 1,302 +HBH ss8 Hio B2 7998m 4750620
t it 5529 1485 F=iE ss6 H11 E 2 TATAM 2122140
TN L 4914.1m
R R & 1687 1063 BLSEE HI1 HI7 &8 8 52333m 1523000
£ B 2050.2m
. n o = BB 1,341.0m
AT Sl B 7514 1978//FE HI1 HIT |2 & 59630m 1907000
£ B 20580m
- A AR - R li:is S44 | sae EHEM 218hal 485040
BARRGSLEEDY B $8ha
(BBEERESE) \ il =
- KX AR - - +m@® HO | H16 tmmEmRemg —X 471500
SRR R =
L 2709.0m
ENREKS RS NN B B 34287m
RERMCERE T e w284 107 BLSEm Ho Hie E 2 S4287m 2803000
EEH 5,864.0m
- R EBEE 66.6ha
RNEERS 2R W 1925 305 +AEm S52 M5 B B 121664m 2,061,000
7 R HEER —=
2 B 3,607m
E & 63 84 +H@H He | H12 £ & 2285m 1,251,000
B IBES —=
v e =58 2,399m
BNEEHDSERSX - rmm 213 249 =rm Ho | H13 & & 7010m 1,237,000
== £ B 2172m
= BB 1,722.3m
R B 138 476 +HE® H10 H15 & & 15134m 625000
£ B 885.6m
o At = A = BB 15,2250m
ENRAGSERSR = R 378/ 1089 =R H17 | H23 |2 & 25610m 1688733
(G5I<DERE) BED T477.0m
T TomK >7537673
TR T3550m
B B 5660.7m
IS 1 1829 445 mitm Hio Hes B 2 QM 1076785
ERERRE 1030.4m
=i 26483m
EEEBEEREEA B 1334 5271 AP H23 R2 B B 80208m 4 50290
’ - - £ B 483m R
SRR %
2 20508m
=y = B m
» & D 2205 374 =R Hee ra B OE Oagim 745,000
SRS -
3R 2884075




4-)-1 STHR-_EXEUEL O _ _ (it Fm)
TnnE | SooN : ET =7 S
B ¥ g X (ha) =) BI{RTREIAT 55 GE z ¥ 5 sEE |
_ _ RS 37708m
P ks 102 94 tFE He | He BB 8 1108000
EEE 5769m
+ 50 @ 74 760 +H@H H8 |Hi2 2 = 1624m 1,584,000
% 1R 3D
= 777
TR R 95 260 tFE HO | Hi3 2 = 7.283m 2,151,000
€ 5 1.530m (3
Em 1.1600m
s E|  203| 1826|mEm HO | Hi4 2 = 55693m  1.687.000
€ 5 5700m
Em 5970m
m 0 62 51 +H0@H H13 | H16 2 & 20036m 906000
. £ = 3152m
S L N p— 2 4.2590m
w8 B R 3 Xgxaop 233 483 ¥ Sg s H10 | H16 2 & 4,1420m| 1,665,000
. € 5 2.2550m
R, £ 7355.0m
8 % 275 3176 tREL i H11 | Hi8 & & 78070m 2153600
= i € 1.691.0m
£ 2,164 5m
= & 275 336 =i H19 | H25 & & 80664m 1462582
ERERRS 311.0m
B 1.3939m
+7@\EHH 118 319 +H@EH H22 | H30 & & 20376m 1198002
€ 33621m
= 6.3149m
_ _ = & 6.4835m
t 5 485 2977/tFm Hee re B8 AooSm 1242700
RS 635.2m
TOIX 15157804
W = R b R 5 520 — &2k SA43 | S47 B R 4.130m 67.134
= TR 67134
s 5] N
O 14 4| e s49 | s51 @ T 604m 82,448
R 2 s D | G AR 14 4 #EE ss8| H2 [BET 813m 212000
P B 14 4 BEE S8 H19 # = 12 7500m 872794
R B § BT 106 4m
(E5REE) 14 4| BRE HS  H7 e 1967m 210768
T 1378010
Nk A B B
B e % k= x x - — | +mmm H2S | H26 INKHEEIER —% 314263
E B T %
= THX 314263
ERIEER AR TR SR smETPE -
(BEBMERER s b * 14775 - LEE BUSEW hso| Re miedE —® 270167
B oERE S %) A : SIESE —=
. AFH
= THX 270167
b7 S = = o =
% ok B R K 762 655 =R® H24 | H26 |ig7kiis = 142938
;I\WDV?\‘JXngﬁmﬁﬁ KB T 25619m
RERLFR 4217 436 +mmE®. APEW H25 | R3 BOX-C 1688m 600748
DRI 1
T oH 743656
B % N ="
2% xR B B m 26 45 F=HE H24 | H26 FeoiT —= 176390
B 3 o=
= THX 176390
T B E Z R K p—
B E & E@EmNER 528 - A0 H22 | H26 IBigkitms —= 33490
A
= THIX 33490
EHHERARESE S 5 24 87 AFE H31 | R2 E®T —= 67920
= THIX 67920
3 204 10 TP H30 | R2 KI5 L 939.1m 90,928
BRABEESSL. A 5 310 — AF@ H30 R2 g;fvﬁﬁr a8 106442
PSR B
?;J‘EE "R s - Bnstw R1 | R3 kBT 1,064.3m 97:320
T S 294690




4-(4)-2 TTHX—BREFESHD (847 : FMA)
——— —
TnaE | SnEN : ET T =7 7S
T B WEE T ) BEREN & e . XL
7 5 28 48 +H0E H10 | H12 K9 T 3230m 22100
gy = 5
REERRE®® % 5 m 28 56 0B H11 HA3 K85 T 7038m 65,000
&) B 636 570 6P H12 | H12 D1vz 5000m 22,900
EREERES®® % 156 133 +Ro@m HO | H13 |L=2,1500m 514818
«C ' & D g % 13 95| /"PE H11 | H16 |L=1,7925m 125,200
TERREOS O s w20 235 mLSEM H14 H1O ®88 T 28340m 329,800
2 LR M E B
SoOvIorxeaeF I 11 Ao FR H23 H23 |FIHEKEET 29960m 120000
EYTLTED
t 5 117 - |cFm H25 Hes B8 T 83803m 338551
BEEREEREDS \
o L g KR 2,880m
B W 14 18|+ H2o | Hzo AU 880m 6282
OB 1544651
EESE 103ha
BIEHARERSSE AN 5 204 46 7o Ho7 | Ho7 EknE 140m 38875
E @ 1,457m
T T 38875
TREm. SR
M KA E FE BIRIER 5888 —  GREL AP H10  H2O |FIkEEZEfE - 900000
FIEL. BNSEE
B T 500,000
— ER T =
esxmanLwm® P R 178 220 mkE H13 Hia XL = 42,000
BB o ® % ; =
. * ® ® 1 872 570 +H@H Hi3 | H13 BET = 18000
EET Y
B SR 50000
PrEL 1650 —  +mmm Hi6 Heo HEEEDE 9360
NI T =T HEETTE
mAamx 9900 sused, J\em | M0 M0 mpnmss 55120
s % W s268 — +wE® H16 | H20 %ggéii 15,400
FREKNYZFAL B I _ =um HEETTE
g 2w % $ 23 m x 810 P 16 | H20 | srammase 20020
P 3 _ HEETTE
5w B 260 R0 Hie | Hzo HEZESE 6720
NI e HEETTE
o m 1669 BOSEE Hie | Hzo HEZESE 36,220
+ W o T =T SEETTE
5t x 4294 BL\5HE M6 MO mpmmmes 102520
TR 245360
T 1B
£ B 930 180 +H@H se2 Hz BERE goee 631000
- WIBHER 1 &%
= % 1300 257 +Ro@m H3 | He LR 120 1675000
WIBHER 1 &
W 370 74 +om Ho | He R ared 664000
. WIBHER 1 &
# B 630 149 @ Ho | Ho EERE grea 1095000
L WIBHER 1 &%
i w810 163 +H@E® He  Hio LS 23 1,054000
WIBHER 1 &
B#HOo 22 51 +o@ He  He LR LoS 331,000
WIBHER 1 &
r o B8 320 75 -+ He  He LERE ored 456000
z WIBHER 1 &
% 3 650 105 +R@H He  Ho EERE 7 ooemieD 1,024,440
ExEEgkER® 530 110 75FE Ho | He B sl 838000
L_ WIBHER 1 &
t @ 1550  398|7FE H7 | Ho EERE oo 2087423
. WIBHER 1 &
T 8 338 80| i Ho | He EEE s 637000
WIBHER 1 &%
o # 910  206|=ikE He | H7 LR 54 964000
. B WIBHER 1 &
%o 160 33| A B He  He LR Lo 202000
_ P WIBHER 1 &%
= 230 61| 7w B He | H7 LS o el 476000
_ P WIBHER 1 &
e 5 460 84| 7 Bk H7 | Ho EERE a1idN 548000
B WIBHER 1 &
F B 110 26| 7 Bk Ho | Hio EERE 1aBF 334000
HE | H12 |mEies 1 & 339,200
A B 8 950  214|+F@EhH JLiEHE Ll
H8 | H13 & 8 11,176m(%R) 887,600




4-(4)-2 HTHE-_BEEEEERO _ i, (e © FFD)
TEAD SRR \ ET =7 i3
B ¥ g XS N =) BI{RTREIAT 55 GE £ = g EE T
) TR &
m R O 1830 277 +R@m He | Hiz EERE s 1222480
. +_ IR 1 &
@ 410 93 AP Ho | Hiz EERE a5TOmISD 726200
- IR 1 5%
=Mk W 3250 1057 B05EE H7 | Hi3 EERE 1001 o 2575200
_ _ IR 1 &
= R # % 1400 280 =R Ho | Hi3 EERE 12a 2132000
IR 1 &
F © 700  213|=iE Ho | Hi3 EERE ca 1085000
_ P NIBHEER 1 &
= # 630 172 A H10 H13 B S0 893900
. IR 1545
R @ 2120 458 +E@® H7 | Hia LS 166700% 2088000
_ IR 1545
¢ B @ 460 112/ tFE H11 H1a BERS seoo ! 583400
= = IR 1 %%
= 2 % 62 34 F=iE H12 | His B 1am® 257,000
A W 1840  424|+E@H H12 | H15 MuBiE:s 1% 420000
- . = IR 1545
HEE KT E % g 520 145 +F@h H13 | Hi7 B somool 714000
\ _ IR 154
m 5 i 780 198 tFEl Hia Hi7 B Bo00 0! 991,000
_ . IR 1545
= R& % 3460 810 =R H13 | Hzo BERE eoTeo 2786000
= o oo - - IR 1 &
=R ® 280| =R H23 | Hos MEEE -l 40,000
_. B _ IR 1 &
=R @ 303| =R H20 Hza B 15ee 1491900
T*”Emﬁ% - - +HR@® H28 | H29 |miiEss = 113,000
5 8 & - - mEm Ho8 | H2O muBiEeg —= 60,000
® & @ - N H2O | H3O MuBiE:S - 111,000
A P o® - - APm H2O | H30 MuBiE:S —= 63,000
;*”Emﬁ% - - tmmh H30 | R1 |rER = 134,000
;*”Emﬁ% - - tmmh R2 | R3 WEBHER = 80,000
BEEEBHEKRKBEDINSEH _ _ . =n =
R RRBRLERD 2 BOSEE R3 | R4 |IEBED % 148000
_ IR 1545
RPN & 640 168|+m@® H17 | Hzo B 1o 740000
EHKIBRERE N NIBHEER 1574
I B 180 42| +r@h Hig Hz1 B 1 om® 260000
= Z1ER 33808743
+mBm - — | +mmm Ho1 | Ho3 |feskissesm 15188 20032
B 2k om
B B B ok® & o® - - |=rm Ho5 | Ho6 |resisesion 1 5% 10540
EREH L ES ® e
N, _ _ A= BESZH -5
BNSEE BOSEE Heg | Hoo BEEPHT = 5000
3K 22570
WE T &
® o8 +R@H. =R, 1Bk 1 &
I F S 2 BEIER  — —  CPEL BOSEE. H1T | H18 SMEEKE 65.4km 40,000
ELED ~EEL. R B 1 &5
BE K 28 9.9km
X 20000
T = @ 110 =] T10 | 113 L=9000m 768800
2 R 120 2 H10 H13 L=7500m 75712
SBECEEEEEE A ¥ 210 =R H12 H13 L=1600m 15419
& X 270 ©PE H13 H14 L=2754m 33,750
= R 116 58 H15 H16 L=3920m 37.347
SR 331,008
paEapganX T8~ - 4u@m H29 | H29 Tewitmsit — 7,500
€ B % _ \ : :
a m - - |ansem H29 | H29 Tewhitmsit — 6,300
: DI 13800
ey g 2 +REH, BNSE
UKDBRENSEIRS sagsn - — @ APEL. \Bh. R2 | R4 | IokNREHER - 389500
& TPEL. Fi
i THEX 385500




